DISPLAYS2GO

CHRGWRLSTBL Assembly Instruction

/Charging Table
STEP2:M4x8

Pan Head Screw\«=
\9/1 L

1 5 N
STEP5:M3x8

Pan Head Screw \STEP3:M4x8 Pan Head Screw
Charging box base

STEP4:AC Plug

/Pole

Power cord/

/Base
— | — Il:l EI — — 7

\STEP1 :4-M6x30 Hex screws

Allen wrench

Hardware:

M3X8 Pan Head ScreW T 6 Scan QR code to visit
M4x8 Pan Head Screw -8 the medIUCt'paIgEel:
M6x30 Hex Screw - 4 2]
5mm Allen wrench ------------ 1

(=]

If you have any questions regarding our products, please visit us at www.displays2go.com or contact D2G
customer service 844-221-3388.




